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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
FINE ARTS

The evil sorcerer Von Rothbart dies at the end of the original version after the two lovers jump into the titular object. In the Americans version, Von Rothbart has his wing broken by Prince Siegfried, enabling the Princess Odette to become human again. In what ballet by Peter Tchaikovsky has Princess Odette literally gone to the birds?

ANSWER: Swan Lake

TOSSUP 2
MISCELLANEOUS

It was once made by gristmills: the “finer” part became corn flour, the shell became bran, and the coarse part became this stuff, which is now the state food of South Carolina. The yellow type is made with the whole kernel. The kernels are soaked in lye or water or another alkaline solution to make the white, or hominy, type of what Southern porridge?

ANSWER: (hominy) grits
TOSSUP 3
SOCIAL STUDIES

In 2006, the Supreme Court held that the Article I’s bankruptcy clause overrules the rights this amendment gives states. It was a response to the Supreme Court’s decision in Chisholm v. Georgia, and doesn’t apply if the state agrees to be sued. What Amendment prevents federal courts from hearing cases between states and non-citizens of that state?

ANSWER: Eleventh Amendment to the Constitution

TOSSUP 4
MATH

THIS IS A COMPUTATION QUESTION. Three angles in a quadrilateral measure 78 degrees, 106 degrees, and 52 degrees.  What is the degree measure of the fourth angle given that the sum of the four angles is 360 degrees?

ANSWER: 124 degrees
TOSSUP 5
SCIENCE

One of these animals in an English zoo reproduced by parthenogenesis.  This reptile has an average length of two to three meters and in 2001 one attacked Sharon Stone’s then-husband.  Name this largest living species of lizard that is named after an Indonesian island and a mythical creature.

ANSWER: komodo dragon
TOSSUP 6
LITERATURE

In Norse myth, the goddess Idunn took care of these items that gave the gods immortality. In Greek myth, their protection involved a hundred-headed dragon named Ladon. Hippomenes (hih-paw-meh-neez) distracted Atalanta with them. In Greek myth, Hercules stole what items that grew in the garden of the Hesperides (heh-spay-rih-deez)?

ANSWER: golden apple(s) (prompt on “apple(s)”)

TOSSUP 7
MATH

THIS IS A COMPUTATION QUESTION. What is the value of 25 factorial divided by 23 factorial, which is equal to 24 times 25?

ANSWER: 600
TOSSUP 8
SCIENCE

This region features a short growing season of less than 60 days, and virtually no deep-root vegetation.  Bogs are common where water has collected and is not able to seep through the surface due to permafrost.  It is located to the polar side of the taiga or above a mountain's treeline. What biome’s name comes from the Finnish for "treeless plain?"

ANSWER: tundra
TOSSUP 9
SOCIAL STUDIES

They charge 12(b)-1 (twelve-bee-one) fees and management fees, which are referred to as ‘load.’ In the 1960s, the first ones that mirrored a stock index were created. Each day, they calculate their Net Asset Value. What investment instruments buy a bundle of stocks and are bought in IRAs and 401(k) plans? 

ANSWER: mutual fund(s)

TOSSUP 10
MATH

THIS IS A COMPUTATION QUESTION. What is the determinant of the matrix with top row of 8 and –4 and bottom row of 12 and 7, remembering that the determinant equals ad minus bc?

ANSWER: 104
TOSSUP 11
SCIENCE

Its scientific name is Megaptera novaeangliae (may-gap-teh-ruh noh-vye-an-glee-eye) and an adult one can be forty to fifty feet long.  A pair named Delta and Dawn got lost in the Sacramento River in May 2007.  Name this type of whale, known for its complex song, that featured prominently in the fourth Star Trek film.
ANSWER: humpback whale (prompt on ‘whale’)

TOSSUP 12
LITERATURE

In this novel, the author used several of his real-life experiences on the San Francisco-based ship Sophia Sutherland. The protagonist falls in love and is eventually stranded on an island with the poet Maud Brewster. Humphrey van Weyden deals with the crew of the Ghost and its Captain Larsen in what novel by Jack London? 

ANSWER: The Sea-Wolf
TOSSUP 13
LANGUAGE ARTS

90% of noun plurals in this language are “broken,” and do not end in –un or –at. Its literary language is used in broadcast and print media, and its spoken dialects include Maghrebi and Bedouin. What sixth official language of the United Nations is the language spoken in the Middle East?

ANSWER: Arabic
TOSSUP 14
SOCIAL STUDIES

The 17th of the Agiad (ah-ghee-ud) line, he ruled with Leotychidas (lee-oh-tee-kih-das). He allegedly said, ‘Come and get them,’ when asked for the weapons of his small army, but was betrayed when Ephialtes (eh-fee-ul-teez) showed a secret trail to the Persians. The leader of Greek forces at Thermopylae (ther-maw-puh-lee) was what King of Sparta? 

ANSWER: Leonidas I 
TOSSUP 15
LITERATURE

In 1940, he was fired from City College of New York due to the views in his Marriage and Morality and Why I Am Not a Christian. His use of the analogy of a ‘celestial teapot’ was used to defend his lack of faith. What author of A History of Western Philosophy worked with Alfred North Whitehead to write the Principia Mathematica?

ANSWER: Bertrand Russell
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
MATH

By definition, it does not hold in non-Euclidean geometry; it is also known as Euclid’s fifth postulate. It states that two lines meet if a line drawn between them forms same-side interior angels that have a sum of less than 180 degrees. What postulate is named for the relationship two lines have, if their same-side interior angles add to 180 degrees?

ANSWER: parallel postulate (accept Euclid’s fifth postulate before it is said)

BONUS 16
MATH

THIS IS A COMPUTATION QUESTION. What are the determinants of the following matrices, with elements given in the following order: top left, top right, bottom left, bottom right? 

A.
4, 7, 8, 3.


ANSWER: -44
B.
5, 9, -4. 7.


ANSWER: 71
C.
7, -3, -8, -2.


ANSWER: -38
D.
11, 4, 8, 5.


ANSWER: 23
TOSSUP 17
SCIENCE

His works include The Formation of Vegetable Mould Through the Action of Worms and The Power of Movement in Plants. His cousin Francis Galton applied his concept to human society, creating the theory of eugenics. After writing an account of his five years on the Beagle, who became better known for his seminal work on evolution, On the Origin of Species? 

ANSWER: Charles Darwin
BONUS 17
SCIENCE

Name these viruses:

A.
AIDS is associated with infections by this virus.

ANSWER: HIV or human immunodeficiency virus
B.
Cold sores near the mouth are caused by type 1 of this virus.

ANSWER: herpes simplex virus (type 1) [accept HSV]

C.
This virus can cause chickenpox in children, and shingles in adults.

ANSWER: varicella-zoster virus [accept either] or HHV-3
D.
This virus, whose strains include the Zaire strain, causes a highly fatal hemorrhagic fever.

ANSWER: Ebola virus

TOSSUP 18
SOCIAL STUDIES

This company's research and development division invented the Unix operating system and the transistor, before being spun off as Lucent.  It broke up on January 1, 1984, but in 2005, SBC Communications acquired it, and retook its name. What telecommunications company, with stock symbol ‘T’, was known as ‘Ma Bell?’

ANSWER: AT&T
BONUS 18
MATH

THIS IS A COMPUTATION QUESTION. Convert the following angles into radian measure.

A.
150 degrees

ANSWER: 5 pi over 6
B.
90 degrees

ANSWER: pi over 2
C.
60 degrees

ANSWER: pi over 3
D.
120 degrees

ANSWER: 2 pi over 3
TOSSUP 19
SOCIAL STUDIES

The Maidan (mye-dahn) is a large park in this city’s center. Its Eden Gardens cricket ground is one of two in the world that can seat over 100,000. A former capital of the British raj, it is located on the banks of the Hooghly and is the capital of West Bengal. What city is India’s fourth-largest behind Bangalore, Delhi, and Mumbai (moom-bye)?

ANSWER: Calcutta or Kolkata, India

BONUS 19
LITERATURE

Identify these Greek philosophers.

A.
He wrote The Republic.

ANSWER: Plato
B.
This most famous of Cynics lived in an overturned tub and searched the streets of Athens at night looking for an honest man.


ANSWER: Diogenes
C.
What name is shared by the founder of the Stoic school of philosophy and the creator of several paradoxes?


ANSWER: Zeno
D.
This student of Leucippus was the first to propose that all matter was composed of indivisible units that he called ‘atoms.’


ANSWER: Democritus
TOSSUP 20
SCIENCE

It was devised by its American chemist namesake in 1932 and examples of them include ammonia, boron trifluoride, and aluminum chloride.  Name this acid and base definition system in which a base can donate a pair of electrons and an acid can accept a pair of electrons.

ANSWER: Lewis (acid/base definition)

BONUS 20
LITERATURE

Answer these questions about an African-American playwright.

A.
This author, who died in 2005, penned a play outlining the black experience in each decade of the 20th Century.

ANSWER: August Wilson
B.
That series of ten plays is known by this title, named for a Pennsylvania city.

ANSWER: Pittsburgh Cycle

C/D.
For five points apiece, name the two plays in the Pittsburgh Cycle that have won Pulitzer Prizes – one set in the 1950’s, and the other in the 1930’s.

ANSWER: Fences and The Piano Lesson
TOSSUP 21
FINE ARTS

Someone threw acid at it in 1956 and later that year, someone else threw a rock at it. It toured the US in 1962 and was insured for $100 million. In 1911, Vicenzo (vee-chen-dzoh) Peruggia (pay-rooj-jyah) stole it. In 2005, Dutch researchers determined the figure in it was 83% happy and 9% disgusted; perhaps a smile is just a smile. La Gioconda (jyoh-kawn-dah) is another name for what oil painting by Leonardo da Vinci?

ANSWER: Mona Lisa (accept La Gioconda before it is said)

BONUS 21
SCIENCE

Name these regions of the Earth's atmosphere:

A.
Most weather occurs in this lowest region.

ANSWER: troposphere [TROH-puh-sphere]

B.
The ozone layer is located in this “sphere” located above the troposphere.

ANSWER: stratosphere
C.
In this region that begins about 50 miles above Earth's surface, temperature increases with altitude.

ANSW
ER: thermosphere [TROH-puh-sphere]

D.
Auroras occur because of the existence of charged particles in this region of the atmosphere.

ANSWER: ionosphere
TOSSUP 22
MISCELLANEOUS

He played Frazier in Angels with Dirty Faces and was shot by James Cagney. A role in High Sierra propelled his career. While filming To Have and Have Not, he met his fourth wife, Lauren Bacall. What actor starred as Fred C. Dobbs in The Treasure of the Sierra Madre, Charlie Allnutt in The African Queen, and Rick Blaine in Casablanca? 

ANSWER: Humphrey Bogart
BONUS 22
SOCIAL STUDIES

Answer these questions about the 1890s.

A.
The Homestead Strike was broken up by the arrival of 300 security guards from what famous detective agency whose motto was, ‘We Never Sleep’?


ANSWER: Pinkerton National Detective Agency (accept Pinkerton’s …)

B.
What civil rights leader, a rival to Eugene Debs, delivered the Atlanta Compromise speech in 1895?


ANSWER: Booker T(aliaferro) Washington
C.
What state was admitted in 1896, despite being eligible for statehood for 46 years?


ANSWER: Utah

D.
In 1893, what last queen of Hawai’i was overthrown in a coup?

ANSWER: Lili’uokalani (lee-lee-oo-oh-kah-lah-nee)

TOSSUP 23
MATH

THIS IS A COMPUTATION QUESTION. What is the value of 5 cubed plus 5 factorial?

ANSWER: 245
BONUS 23
MISCELLANEOUS

Given a baseball team, give the city it once called home, along with its old mascot, if that changed too. 

A.
Los Angeles Dodgers.

ANSWER: Brooklyn Dodgers

B.
Oakland Athletics.

ANSWER: Kansas City Athletics

C.
Baltimore Orioles.

ANSWER: St. Louis Browns
D.
Milwaukee Brewers.

ANSWER: Seattle Pilots
TOSSUP 24
LITERATURE

His attempt to build Shalako, a working frontier town, failed. He wrote three series: Kilkenny, Talon and Chantry, and Sackett. Under the pseudonym Tex Brisco, he wrote four Hopalong Cassidy novels. He wrote the novel Hondo and wrote the novelization of How the West was Won. Who was this French-Canadian writer of Westerns?

ANSWER: Louis L’Amour
BONUS 24
SOCIAL STUDIES

Answer these questions about the Phoenicians. 
A.
Hiram I ruled what city between 969 and 936 BC? 


ANSWER: Tyre
B.
What city, whose name means ‘new city’ in Phoenician, was founded in 814 BC as a Phoenician colony on the North African coast? 


ANSWER: Carthage
C.
The Phoenicians made a fortune by importing tin from Spain and copper from Cyprus to make what valuable item?

ANSWER: bronze
D.
Phoenician power was ended for good in what three wars between Carthage and Rome?

ANSWER: Punic
TOSSUP 25
LITERATURE

This sonnet was inspired by the British Museum’s acquisition of a statue of Ramses II. Its title figure, now long-dead, commands the viewer to ‘Look on my works, ye mighty, and despair!’ What short poem by Percy Shelley is about ‘two vast and trunkless legs of stone’ that ‘stand in the desert’?

ANSWER: ‘Ozymandias’

BONUS 25
LANGUAGE ARTS

Answer these questions about common words.
A.
What are the three articles in the English language? 


ANSWER: a / an / the
B.
Words such as ‘Oh!’ and ‘Oops!’ are what part of speech?


ANSWER: interjection(s)
C.
What type of pronoun links a subordinate clause to the rest of the sentence, such as ‘that’ in ‘This is the house that Jack built’? 


ANSWER: that
D.
‘t’ is the most common consonant in English. What is the second-most common consonant in English?


ANSWER: n
HALFTIME
Third period: 15 toss-ups
TOSSUP 26
MATH

THIS IS A COMPUTATION QUESTION. Where is the focus of the parabola y = 1/4 times the binomial x minus 5 squared plus 6?

ANSWER: (5, 7)
TOSSUP 27
LITERATURE

This novel’s author wanted to call it ¡Fiesta! (fee-ay-stah) but the publisher picked a title based on Ecclesiastes 1:5. A war wound has made the protagonist disabled. So to escape, he goes fishing among the Spanish hills and runs with the bulls at Pamplona. Jake Barnes and Brett Ashley are in what novel by Ernest Hemingway?

ANSWER: The Sun Also Rises
TOSSUP 28
SCIENCE

The island of Murano near Venice is famous for manufacturing it.  It is strong under compression but brittle under tension.  Obsidian is a naturally occurring type of it.  A borosilicate type of it is known as Pyrex.  Name this substance that is usually made from sand and is usually transparent. 

ANSWER: glass
TOSSUP 29
MATH

THIS IS A COMPUTATION QUESTION. What is the remainder when 1677 is divided by 11?

ANSWER: five
TOSSUP 30
LITERATURE

Effie eventually lost this object. For the final year of its existence, it traveled between Williams, Brown, NYU, and Rhode Island School of Design. For three previous summers, it traveled between Maryland, South Carolina, and Greece. Carmen, Bridget, Tibby, and Lena are the ‘Sisterhood’ that wore what magical item of clothing?

ANSWER: the Travelling Pants
TOSSUP 31
SCIENCE

Also known as the hypophysis (high-poh-feye-sis), its functions include controlling blood pressure, breast milk production, and growth.  It produces oxytocin, prolactin, leutinizing (loo-tin-eye-zing) hormone, antidiuretic hormone, growth hormone, and other hormones.  Located at the base of the brain is what ‘master gland’? 

ANSWER: pituitary gland

TOSSUP 32
SCIENCE

It is one of Maxwell’s four equations. In differential form, it is the divergence of the electric displacement field equals the free electric charge density. In integral form, it states that electric flux equals enclosed charge divided by the permittivity of free space. What electrostatic equivalent of Ampere’s law is named after a German mathematician?

ANSWER: Gauss’s law

TOSSUP 33
SOCIAL STUDIES

He ordered the carving of the Behistun Inscription which enabled the translation of cuneiform. He reorganized his empire, dividing it into twenty satrapies. Revolts in his reign included one in Ionian Greece. What Persian emperor ruled between 522 and 485 BC, dying a few years after his army was destroyed at the battle of Marathon?

ANSWER: Darius I (duh-rye-us) or Darius the Great (prompt on Darius)

TOSSUP 34
MATH

Two of these are a crumb and five of these are a nickel. On a machine that can process 32 of them at a time, 16 of them are a half word, while 64 of them are a double word. Name this smallest unit of data measure in computer science, four of which are a nibble, and eight of which make up a byte. 

ANSWER: Bit

TOSSUP 35
LANGUAGE ARTS

For a shepherd, it refers to an enclosure for sheep. For a journalist, being ‘above’ it means an important news story. However, for a sports team or business, doing it means no longer functioning. For a poker player, it means putting down the cards and giving up. What word means to bend something, like a piece of paper, over itself for easier storage? 

ANSWER: fold (accept word forms)

TOSSUP 36
MISCELLANEOUS

This fictional character married Philip Covington III, adopted a Chinese girl named Patty, and became an architect like her stepfather. She looked like her Great-Aunt Jenny and invented a boyfriend named George Glass. Eve Plumb played what character whose cry, “Marcia, Marcia, Marcia!” betrayed her status as middle daughter of the Bradys?

ANSWER: Jan Brady

TOSSUP 37
SOCIAL STUDIES

In this case, the Supreme Court ruled the Adams-Onís Treaty did not apply, as the Spanish did not possess the ship in American waters. Allegedly, one of this case’s parties, Joseph Cinqué (san-kay), became a slave trader. What Supreme Court decision granted freedom to the slaves who had revolted and taken over the namesake ship?

ANSWER: The Amistad (ah-mee-STAHD) case

TOSSUP 38
FINE ARTS

This musical direction is the opposite of legato, in which notes are ‘slurred’ together. For string instruments, it often goes along with the pizzicato direction. A dot placed below or above a musical note indicates they are to be sung or played in what distinctly separate, detached manner?

ANSWER: staccato
TOSSUP 39
SOCIAL STUDIES

The start of this battle was delayed so the new Panther tanks could arrive. To prepare, soldiers in the Central and Voronezh (vaw-raw-nezh) Fronts placed over a million mines. Hitler called off further operations when the Allies had invaded Sicily. The largest tank battle in history was what Eastern Front battle in World War II?

ANSWER: Battle of Kursk
TOSSUP 40
LITERATURE

This church was founded in 1914 at a meeting in Hot Springs, Arkansas, and is the largest church that traces its roots to the Azusa Street Mission. In 1988, a ‘World Fellowship’ was formed. The 16 Fundamental Truths are associated with what church, the world’s largest Pentecostal denomination?

ANSWER: World Assemblies of God Fellowship (accept ‘Assembly of God’)

Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
LANGUAGE ARTS

Write down the following sentence. (Quizmaster: speak slowly) If I were a rich man, I would buy a bigger house. (Quizmaster: speak normally) In what mood is the verb “were”?

ANSWER: subjunctive
BONUS 41
SCIENCE

Answer these questions about glucose:

A.
How many carbon atoms does a molecule of glucose have?

ANSWER: 6
B.
Humans store glucose in the form of what polymer?

ANSWER: glycogen
C.
Which organ is the only organ that can store glycogen for use by other organs?
ANSWER: liver
D.
The first step in the metabolism of glucose is the addition of what ion, to prevent the modified glucose molecule from leaving the cell?

ANSWER: (inorganic) phosphate or PO43-
TOSSUP 42
SCIENCE

This xanthine alkaloid compound is also known as guaranine (gwah-rah-neen) or mateine (mah-tay-ene).  It can act as a natural pesticide against insects.  Name this stimulant that is the world’s most widely consumed psychoactive substance and is found in cocoa and especially coffee.

ANSWER: caffeine
BONUS 42
MISCELLANEOUS

January 1st, 2007 saw many countries trying to better themselves, given a clue name the country. 

A.
This country replaced the tolar with the euro.


ANSWER: Slovenia
B.
This African nation joined OPEC.


ANSWER: Angola 

C/D.
These two former Soviet satellite states joined the European Union.


 ANSWERS: Bulgaria and Romania 

TOSSUP 43
LITERATURE

Its author considers it a collection of sixteen short stories, narrated from the point of view of three mothers and four daughters. Several husbands are portrayed as jerks, including Harold St. Clair and Ted Jordan. Suyuan Woo died before the work’s opening, so her daughter Jing-mei or ‘June’ pulls double duty in story telling. Periodic mahjong games are played in what novel by Amy Tan?

ANSWER: The Joy-Luck Club
BONUS 43
SOCIAL STUDIES

Given a length and a major European city on its banks, name the river.

A. 
1,423  miles, and Kiev, Ukraine

ANSWER: Dnieper 

B. 
830 miles and Cologne, Germany

ANSWER: Rhine
C. 
1,777 miles and Vienna, Austria

ANSWER: Danube 

D. 
482 miles and Paris, France


ANSWER: Seine

TOSSUP 44
MATH

THIS IS A COMPUTATION QUESTION. What is the conjugate of the complex product of 6 plus 7i and 5 plus 3i?

ANSWER: 9 minus 53i
BONUS 44
LITERATURE

Answer these questions about a 20th century American author.

A.
Yossarian is the protagonist of this author’s influential 1962 book about servicemen during World War II.

ANSWER: Joseph Heller

B.
Name the 1962 work in which Yossarian appears.

ANSWER: Catch-22

C.
This sequel to Catch-22 was published in 1997, and also features Yossarian.

ANSWER: Closing Time

D.
This character in Catch-22 has a very redundant last name, made even moreso when he is promoted from the rank of Private.

ANSWER: Major Major Major Major

TOSSUP 45
SOCIAL STUDIES

She declared a state of emergency in 1975 and ruled by decree through President Fakhruddin Ali Ahmed. Opposed by the Janata party, her rule included the Smiling Buddha nuclear test and Operation Blue Star against the Golden Temple at Amritsar (am-reet-sar). What Indian Prime Minister was assassinated in 1984 by her Sikh bodyguards? 

ANSWER: Indira Gandhi (prompt on ‘Gandhi’)

BONUS 45
MATH

THIS IS A COMPUTATION QUESTION. What are the positive square roots of the following?

A.
1369


ANSWER: 37
B.
196


ANSWER: 14
C.
289


ANSWER: 17
D.
1849


ANSWER: 43
TOSSUP 46
SCIENCE

It is a caustic, white alkaline crystal with a molecular mass of 56.  It is used in glass production, in paper production to dissolve lignin, and in agriculture to improve acidic soils.  When hydrated, it is called ‘slaked,’ and is used in mortar and plaster.  Name this chemical compound also known as calcium oxide, with formula CaO.

ANSWER: quicklime or lime (accept calcium oxide before mentioned)

BONUS 46
LITERATURE

Name these Canadian authors from works.

A.
Anne of Green Gables


ANSWER: Lucy Maud Montgomery
B.
“In Flanders Fields”


ANSWER: John McCrae
C.
The Handmaid’s Tale


ANSWER: Margaret Atwood
D.
Humboldt’s Gift.


ANSWER: Saul Bellow

TOSSUP 47
LITERATURE

Originally, this fictional character’s name was to be Mia Angela Carol. She has two younger brothers, John and Michael, and lives with her parents, George and Mary. After moving to her new home, she is nearly killed by Tootles, and later incurs the jealousy of Tiger Lily and Tinker Bell. Who is the ‘mother’ to the Lost Boys in the novel Peter Pan?

ANSWER: Wendy Darling
BONUS 47
SOCIAL STUDIES

Answer these questions about non-traditional investments.

A.
In the late 1970s, the Hunt brothers tried to corner the market for what metal?


ANSWER: silver
B.
Upper Deck and Topps are the only makers of what items, which notably do not portray people who crossed the picket lines in 1994?


ANSWER: baseball card(s)

C.
An oenophile (oh-noh-file) is likely to have a collection of – what – in her or his basement?


ANSWER: wine bottles 

D.
The Inverted Jenny and the Z-Grill are among the rarest of what items?


ANSWER: stamp(s)

TOSSUP 48
MATH

THIS IS A COMPUTATION QUESTION. What is the prime factorization of 182?

ANSWER: 2, 7, 13
BONUS 48
MATH

Name the number given its factorial.

A.
40,320


ANSWER: 8
B.
479,001,600

ANSWER: 12
C.
5,040


ANSWER: 7​
D.
362,880

ANSWER: 9
TOSSUP 49
MISCELLANEOUS

He was put on the Ten Most Wanted list in 1998 after the bombing of an Alabama abortion clinic.  He replaced the falsely suspected Richard Jewell as the prime suspect in the 1996 Olympic Park bombing in Atlanta. In 2005, what long-term fugitive was sentenced to multiple life terms following his arrest in a rural North Carolina town?

ANSWER: Eric Rudolph
BONUS 49
SCIENCE

Answer these questions about collisions:

A.
In a closed system, what physical quantity is always conserved in any collision, regardless of type?

ANSWER: linear momentum
B.
In what type of collision is kinetic energy also conserved?

ANSWER: (perfectly) elastic collision

C.
In an inelastic collision, what type of force, which depends on the path taken by a system, removes energy from the system?

ANSWER: nonconservative force

D.
One way of measuring the force of a collision is to consider what quantity equal to the net change in an object's momentum?

ANSWER: impulse 

TOSSUP 50
SOCIAL STUDIES

This Caribbean nation is third-highest, in the Western Hemisphere, in the UN’s Human Development Index. The Grenadines and Saint Lucia are off to the west, Grenada is off to the south-west, and Trinidad and Tobago are off to the south. Its residents call themselves Bajans (bah-junz) and it has a flag that is blue and yellow with a trident in the middle. What country, whose capital is Bridgetown, is the home of Rihanna? 

ANSWER: Barbados 

BONUS 50
FINE ARTS

Identify these composers who set passages of the book of Psalms to music.

A.
In 1930's Symphony of Psalms, this Russian used the octatonic scale, just as he did in Petrushka.


ANSWER: Igor Stravinsky
B.
His 1964 work Chichester Psalms never became as famous as his musical West Side Story.


ANSWER: Leonard Bernstein
C.
This minimalist, noted for Different Trains and Music for 18 Musicians, put psalms to music in his Tehillim.


ANSWER: Steve Reich
D.
John Rutter incorporated two Psalms into the text for the traditional Latin Mass for the Dead for this generically-titled 1985 work, his most famous.


ANSWER: Requiem
END OF MATCH

Spare questions
TOSSUP 51
MISCELLANEOUS

A graduate of Warwick High School in Virginia, he finished third in Heisman trophy voting in 1999, his freshman his year. He was the number one NFL draft pick in 2001.  In July 2007, NFL Commissioner Roger Goodell effectively suspended what head of Bad Newz Kennels and Atlanta Falcons quarterback over dogfighting charges? 

ANSWER: Michael Vick
BONUS 51
MISCELLANEOUS

Answer the following about Fox’s TV show House.

A.
Dr. Gregory House is played by this British Actor


ANSWER: Hugh Laurie
B.
This doctor is the Dean of Medicine and House’s boss whom he often clashes with


ANSWER: Lisa Cuddy

C.
One of House’s few friends is this doctor, the head of Oncology


ANSWER: James Wilson
D.
This doctor was hired by House for his team because she was pretty.


ANSWER: Allison Cameron

TOSSUP 52
SOCIAL STUDIES

If you take housing, food, and transportation costs from this quantity, you get discretionary income. While Democrats point to largely flat wages over the past seven years, Republicans point that this measure of income has gone up. What term describes the amount of income people have after taxes?

ANSWER: disposable income (accept net income and also after tax income before the end of the question)

BONUS 52
MATH

THIS IS A COMPUTATION QUESTION. Solve the following for x.

A.
4x minus 6 equals 7x minus 18.
ANSWER: x equals 4
B.
3x plus 12 equals 6x minus 6.

ANSWER: x equals 6
C.
6x plus 7 equals 4x plus 25.

ANSWER: x equals 9
D.
12x minus 5 equals 5x plus 9.

ANSWER: x equals 2
TOSSUP 53
SCIENCE

Its name comes from the Greek for ‘entire’ and ‘recent.’  It began following the retreat of glaciers and the extinction of large mammals like saber-toothed cats and mammoths at the end of the Paleolithic Age.  Beginning with the Middle Stone Age and following the Pleistocene is what epoch, the current epoch of geologic history?

ANSWER: Holocene Epoch

BONUS 53
LITERATURE

Identify these classical authors from descriptions.

A.
This Greek playwright has eighteen surviving works, including Medea and The Trojan Women.

ANSWER: Euripedes
B.
This Greek author and historian is best known for his History of the Peloponnesian War.

ANSWER: Thucydides

C.
This other Greek historian wrote a nine-book series about the Greeks’ wars with the Persians.

ANSWER: Herodotus

D.
This playwright wrote comedic works such as The Clouds and The Frogs.

ANSWER: Aristophanes

TOSSUP 54
LITERATURE

His novel Maurice and his short story collection The Life to Come were both posthumous. After 1924, he wrote no more novels, but wrote the libretto for Benjamin Britten’s opera Billy Budd. Early novels include Where Angels Fear to Tread, A Room with a View, and Howards End. Dr. Aziz and Adela Quested are in what writer’s last novel, A Passage to India? 

ANSWER: E.M. Forster
BONUS 54
FINE ARTS

Identify these paintings or painters of flags.

A.
James Monroe holds an anachronistic flag behind the title general in this famous depiction of a boat trip painted by Emanuel Leutze (loy-tsuh).

ANSWER: Washington Crossing the Delaware
B. 
A bare-breasted woman carries a French tricolor over a pile of dead bodies in this Eugene Delacroix work.

ANSWER: Liberty Leading the People
C. 
Survivors use flags to signal a distant ship in this Frenchman's painting Raft of the Medusa.

ANSWER: Theodore Gericault (zhay-ree-coh)

D. 
This American pop artist has painted several versions of the American flag, one on a collage of newspaper simply called Flag.

ANSWER: Jasper Johns
TOSSUP 55
MATH

THIS IS A COMPUTATION QUESTION. What number fills in the pattern 2, 5, 11, 23, blank, and 95?

ANSWER: 47
BONUS 55
SOCIAL STUDIES

Answer these questions about the Frankish empire.

A.
What Frankish dynasty was founded by Childeric I in 481, and was overthrown by Pepin the Short in 751? 


ANSWER: Merovingians 

B.
Charles Martel won what battle, also called Poitiers (pwah-tee-ay), in 732?


ANSWER: Tours
C.
Who was the only surviving son of Charlemagne?


ANSWER: Louis the Pious
D.
At what treaty in 843 was the empire divided between Charlemagne’s grandsons?


ANSWER: Verdun
TOSSUP 56
LANGUAGE ARTS

An extended one of these is also called a ‘conceit’ and organizes many objects, as in ‘All the world’s a stage / And all the men and women merely players.’ The sentence, ‘He really carried the load by diving right in’ is an example of a mixed one. What trope (troh-pee) is a comparison between two dissimilar objects and does not use ‘like’ or ‘as’? 

ANSWER: metaphor(s)

BONUS 56
LANGUAGE ARTS

The following words were winning words in the Scripps National Spelling Bee.  Luckily for you, you only have to say them.

A.
Rebecca Sealfon screamed the correct spelling of this six-letter Greek-based word in 1997, which means the appropriate or true word for something.


ANSWER: euonym

B.
The winning word in 1982 was this disease, characterized by gray and silvery patches on the skin.


ANSWER: psoriasis

C.
This French word for a pastry in the shape of a crescent was the winning word in 1970.


ANSWER: croissant

D.
This Greek word for a stone coffin often inscribed upon or decorated was the winning word in 1981.


ANSWER: sarcophagus

TOSSUP 57
FINE ARTS

As a result of the Council of Trent, the Catholic Church encouraged the spread of this art movement. It is still used to today to refer to something elaborate and detailed. What art period, set between the Mannerist and Rococo periods, occurred in the early 17th century? 

ANSWER: Baroque period

BONUS 57
SCIENCE

7 Identify these terms that describe chemical reactions:

A.
In this type of reaction, the forward and reverse rates are equal.

ANSWER: equilibrium
B.
This type of reaction releases heat.

ANSWER: exothermic
C.
In this type of reaction, all the reactants are in the same phase.

ANSWER: homogeneous
D.
This type of reaction moves to a more stable state, and can happen in the absence of a driving force.

ANSWER: spontaneous [accept exergonic]
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